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If Aand B are setsand AU B=AN B, then

(A) A=0
B) B=0
(C) A=B

(D) Noneofthese
Let S be an infinite setand S;, S,, S;,......., S,
be setsthat S, US, US,U .......S, =S then

(A) atleastone of the sets S;is afinite set

(B)  notmore than one of the set S, can be
finite

(C) atleast one of the sets S, is an infinite
set

(D) Noneofthese

A class Consists of 15 girls and 10 boys.
Three students are to be randomly selected.
Find the probability that one boy and two
girls are picked.

(A)  1/50
B)  3/25
(C)  21/46
(D)  25/46

Let R be a relation"(x-y) is divisible by m",
where x,y,m are integersand m> 1, then R is

(A)  Symmetric butnottransitive
(B)  partial order

(C)  equivalence relation

(D)  anti symmetric and not transitive

The set of all real numbers under the usual
multiplication operation is not a group since

(A) multiplication is not a binary
operation

(B)  multiplication is not associative
(C)  identity element does not exist

(D)  antisymmetric and not transitive
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(A) C(A+B)DE
(B) C(A+B)DE

© [[c@+B)D]E]
(D) ABCDE

Computer Application-21

6. Convert hexadecimal value 16 to decimal.
A) 22,
B) 16y,
©) 104
(D) 204
7. Which of the following is the most widely
used alphanumeric code for computer input
and output?
(A) Gray
(B) ASCI
(C)  Parity
(D) EBCDIC
8. Which is typically the longest: bit, byte,
nibble, word?
(A) Bit
(B)  Byte
(C) Nibble
(D) Word
9. Derive the Boolean expression for the logic
circuit shown below:
A
: :D—}}:
C ___l ‘ ‘
D
E
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10.  What is probability of drawing two clubs
from a well shuffled pack of 52 card?

A) 13/51
®) 117
©) 1126
@) 1317

11. What is the possibility of having 53

Thursdays in anon-leap year?

@A) 67
®) 1/7
)  1/365
@)  53/365

12.  Two dice are tossed simultaneously. Find the

probability that the total is a prime number.

A 79
B) 5/12
©C) 1/6
D) 59
13.  Which among following can be considered
asmostadvanced ROM?
(A) DRAM
(B) EEPROM
(©) RAM
(D) PROM

14.  Where the result of an arithmetic and logical

operation are stored?

(A) InAccumulator

(B) InCache Memory

(C) InROM

(D) InlInstructionRegistry

Computer Application-21

10.

11.

12.

13.

14.

52 HIEH B T T TE & AHA Joh
TSl 1 U bl AT TR ?

(7))
()
(%)
()

13/51
1/17
1/26

13/17

- o & 53 TTEETR 1 B Tt GTEAT =1

®?

(30)
(%)
()
()

6/7
1/7
1/365

53/365

I 1Y Theh [EATSIET S | 1 Sma T R
P Ra T EEER ?

(1)
)
(%)
()

7/9
5/12
1/6

5/9

=1 4 9 =59 9 90 3d I9 S 9/ 9
TNHHATE ?

(37)
()
(H)
()

DRAM
EEPROM
RAM

PROM

3T 3R Tfcheh TaTeH T YRUTT hal
RIS ?

(1)
()
(%)
()

In Accumulator

In Cache Memory
InROM

In Instruction Registry

P.T.O.

"



15.

16.

17.

18.

19.

20.

An exception condition in a computer system
caused by an event external to the CPU is

known as?

(A) Halt

(B)  Process

(C)  Interrupt

(D) Noneofabove

I/0 processor has direct access to?
(A) MainMemory

(B)  Secondary Memory

(C)  FlashMemory

(D) ROM

Which among following is an important data
transfer technique?

(A) CAD
(B) CAM
(C) DMA
(D) MMA
RISC stands for?

(A) RiskInstruction Source Computer
(B)  Reduced Instruction Set Computer
(C©) RiskInstruction Set Computer

(D) RiskInstruction Set Computing

An instruction code must specify the address
ofthe?

(A) Operand

(B) OpCode

(C) Bothofabove

(D) Noneofabove

ANAND gatehas:

(A) LOWinputsand HIGH output
(B) LOWinputsand aLOW output
(C)  HIGHinputs and a HIGH output
(D) Noneoftheabove
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21.

22.

23.

24,

25.

What is an operating system? 21.

(A)  collection of programs that manages

hardware resources

(B) system service provider to the

application programs
(C)  link to interface the hardware and
application programs
(D) allofthementioned 22
To access the services of operating system,
the interface is provided by the
(A)  systemcalls
(B) API
(C) library
(D)  assembly instructions ’3.
Which module gives control of the CPU to
the process selected by the short-term
scheduler?
(A)  dispatcher
(B) interrupt
C hedul
(C)  scheduler 24,
(D)  noneof the mentioned
Which scheduling algorithm allocates the
CPU first to the process that requests the
CPU first?
(A)  First-come, first-served scheduling
(B)  shortestjob scheduling
(C)  priority scheduling -

(D)  noneofthe mentioned

Which of the following condition is required
for deadlock to possible?

(A) Mutual exclusion

(B) a process may hold allocated
resources while awaiting assignment
of other resources

(C)  no resource can be forcibly removed
from a process holding it

(D) all ofthementioned
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26.

27.

28.

29.

30.

Asystem isin the safe state if

(A)  the system can allocate resources to
each process in some order and still
avoid adeadlock

(B) thereexistasafe sequence

(C)  both(a)and (b)

(D)  noneofthe mentioned

What is the drawback of banker's algorithm?

(A) in advance processes rarely know
that how much resource they will
need

(B)  the number of process changes as

time progresses

(C) resource once available can
disappear

(D) all ofthementioned

To avoid deadlock

(A) there must be a fixed number of
resourcesto allocate

(B) resource allocation must be done
only once

(C) all deadlocked processes must be
aborted

(D) inversiontechnique can be used

A parent process calling system call
will be suspended until children processes
terminate.

(A) fork
(B) wait
(C) exit
(D) exec

Memory management technique in which
system stores and retrieves data from
secondary storage for use in main memory is
called

(A) fragmentation

(B)  paging

(C)  mapping

(D)  noneofthe mentioned
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31.

32.

33.

34.

Whatis compaction?

(A)  atechniques for overcoming internal
fragmentation
(B) apagingtechnique

(C)  atechnique for overcoming external

fragmentation

(D) a technique for overcoming fatal

€1ror

When several processes access the same data 32.

concurrently and the outcdme of the
execution depends on the particular order in
which the access takes place, is called

(A) dynamiccondition
(B) racecondition
(C)  essential condition
(D)  critical condition

A light sensitive device that converts

drawing, printed text or other images into

digital form is
(A) Keyboard
(B) Plotter
(C)  Scanner
®O) OMR

Youshould save your computer from?
(A) Virus

(B) TimeBombs

(C) Worms

(D)  Alloftheabove
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35.

36.

37.

38.

39.

World Wide Web is being standard by
(A)  World Wide Corporation

(B) WwW3C

(C)  World Wide Consortium

(D)  World Wide Web Standard
Which of the following is not logical
operator?

A &

B) &&

© |

O !

Which of the following cannot be checked in

a switch-case statement?

(A) Character
(B) Integer
(C)  Float

(D) Enum

The keyword used to transfer control from a
function back to the calling function is

(A)  Switch
B) Goto
(C©) GoBack
(D) Return

Which of the following function sets first n

characters of a string to a given character?

(A)  Strinit()
(B)  Strnset()
(C)  Strset()

(D)  streset()

Computer Application-21
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40.

41.

42.

43.

44.

How many bytes are occupied by near, far 40.

and huge pointers(DOS)?

(A)  near=2far=4 huge=4
(B)  near=4 far=8 huge=8
(C) near=2 far=4 huge=8
(D) near=4 far=4 huge=8

41.
The operator used to get value at address
stored in apointer variable is
@A *
B &
© &&
O 42.
What is the similarity between a structure,
union and enumeration?
(A)  All ofthem let youdefine new values
(B)  All of them let you define new data
types
(C) All of them let you define new
pointers ’
(D) All of them let you define new
structures
, 43.
What does the following declaration mean?
int (*ptr) [10];
(A) ptrisarray of pointers to 10 integers
(B) ptr is a pointer to an array of 10
integers
(C) ptrisanarray of 10 integers
(D) ptrisanpointer to array
‘ 44.

What is the scope of the variable declared in

the user defined function?

(A)  Whole program
(B)  onlyinside the {}block
(C)  mainfunction

(D)  none of the mentioned
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45.

46.

47.

48.

What does the following statement mean? 45.

int(*fp)(char*)
(A) - pointer toapointer
(B)  pointertoan array of chars

(C) pointer to function taking a char*
~argument and returns an int

(D) function taking a char* argument and
_returning a pointer to int

What is the syntax of inheritance of class?

(A) classname

46.

(B)  classname : access specifier

(C) class name : access specifer class

name
(D)  None of the mentioned
What is the output of this program?
#include <iostream >

#include <string>

using namespace std;

template <typename T>

void print_mydata (T output)

{

cout <<output <<endl;

}

int main ()

{
doubled=35.5;

- string s("Hello World");

print_mydata(d);

print) mydata(s);

return 0;

}

(A)  5.5Hello World
B) 55

(C) HelloWorld

(D) Noneoftheabove

What is a template?

(A)  Atemplate is a formula for creating a
generic clas .

(B) A template is used to manipulate the
class

(C) A template is used for creating the
attributes

(D)  Noneoftheabove

Computer Application-21 12

47.

48.

freafafed wua &1 w7 o9 22

int (*fp) (char*)

(31) THgTFH S fAqygEs

(9) vl &l T woht & fa gae

(9) U= char* ﬁéﬁ%ﬁmw 3R
T int A S

(%) HoR™ T char * T o &1 ¢ 3R int
HIIER AT @R

FHE e T TR TR ?

(37) =FAHAH

(9) oA :access specifier

(9) I :access specifer

() S@FaA=E AT

TG WU 1 SR FATE ?

#include <iostream >
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using namespace std;

template <typename T>
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cout << output <<endl;
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49.

50,

51.

52.

‘Whatis the use of dynamic_cast operator?
(A) it converts virtual base class to
derivedclass

it converts virtual base object to
derived objects

®)

©

it will converts the operator based on
precedence

(D) Noneofthe mentioned
Whatis the output of this program?
#include <isotream>

using namespace std;

int main()

inti,j;

j=10;
i=(++,)+100,999 +j);
cout<<i;

return 0;

}

(A) 1000

B) 11

(C) 1010

(D) 1001

If the amount of data to be stored in a stack

cannot be predicted, the best data structure to
implement the stack is:

(A)  hashtable

(B)  binary searchtree

(C) linkedlist
unordered array

Which of the following statement is true
regarding aqueue?

(A) It may be implemented either by an
array or a linked list.

(B) ° It may be implemented by a heap
because firstinis first out.

(C) It may be implemented by a linked
list because insertions and deletions
may be from the same end.

(D) It may be implemented by an array

without providing for wrap-around.

Computer Application-21
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53.

54.

55.

56.

57.

Which of the following statements

concerning binary search tree is always true?
A)

(B)  They are alwaysbalanced.

The search time is O(log, n).

(C)  Thedeletetimeis O(log, n).
(D)  The insert time depends on how well
balanced they are.

Which out of these is a non-linear data-
structure:

(A)
(B)  linked-lists

arrays

(C)  queues
D)

The traversal directions possible in a double-

Tree

linded list are;

(A)
(B)  Backward

Forward

(C)  forward and backward
(D) right

The deque in which insertion is done at one

end and deletion from both ends:

(A) input-restricted deque

(B)  output-restricted deque
(C) input-outputrestricted deque
D)
Height of a full binary tree with n internal

Any ofthe above

nodesis:

(A) nlogn
B) n
(C) n+l
(D) logn
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58.

59.

60.

61.

62.

The post order traversal of a binary tree is :
DEBFCA, find out the preorder traversal:

(A) ABFCDE
(B) ADBFEC
(C)  ABDECF
D) " ABDCEF

A binary search tree in which the nodes have
been inserted in the following order:
60,55,95,40,30,100,35 the node with the

value 47 will be inserted to the:

(A) rightofnode with value 40

(B)  rightofnode with value 55

(C)  rightofnode with value 35

(D)  leftofnode with value 30

The complexity of bubble-sort algorithm is:
A) Oo@)

(B) O

(€©) Of(logn)

D) O(nlogn)

What is a web browser?

(A) a program that can display a web

page

(B) a program used to view html
documents

(C) itenablesuserto access the resources
of internet

(D) allofthementioned

Common gateway interface is used to

(A)

generate executable files from web

content by web server
(B)  generate web pages
(C)  streamvideos
(D) noneofthementioned
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63.

64.

65.

. 66.

67.

Aweb cookie is asmall piece of data

(A) sent from a website and stored in
user's web browser while a user is

browsing a website

(B) sent from user and stored in the
server while a user is browsing a
website

(C)  sentfromroot server to all servers

(D)  noneofthe mentioned

Choose the correct HTML code to create an
email link?

(A)  <AHREF="admin@mcgsets.com"></A>
(B)  <AHREF = "mailto:suresh@mogsets.com™></A>
(©) <MAIL>admin@mcgsets.com</MAIL>
(D)  MAILHREF="admin@mcgsets.com™>

Which of the following is part of the four
main types for e-commerce?

(A) B2B
(B) B2C
(C) C2B

(D) Alloftheabove

Smart card is better protected than other card
using

(A)  Encryption
(B)  Firewall

(C) Hub

(D) Alltheabove

The term attribute refersto a ofa
table.

(A) Record

(B) Column

(C)  Tuple

(D)  Key
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68.

69.

70.

71.

72.

The attribute name could be structured as a
attribute consisting of first name, middle
initial, and last name. This type of attribute is
called

(A)  Simpleattribute

(B)  Composite attribute

(C)  Multivalued attribute

(D)  Derived attribute

The clause is used to list the
attributes desired in the result of a query.

(A)  Where

(B)  Select

(C©)  From

(D) Distinct

For select operation the

in the subscript and the
argument appears in the paranthesis after the
sigma.

appear

(A)  Predicates, relation
(B)  Relation, Predicates
(C)  Operation, Predicates
(D)  Relation, Operation

A table on the many side of a one to many or
many to many relationship must:

(A) BeinSecond Normal Form (2NF)
(B)  BeinThird Normal Form (3NF)

(C)  Haveasingleattribute key

(D) Haveacomposite key

A integrity constraint requires that

the values appearing in specified attributes
of any tuple in the referencing also appear in
specified attributed of at least one tuple in the
referenced relation.

(A) Referential
(B)  Referencing
(C) - Specific

(D)  Primary
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73.

74.

75.

76.

77.

78.

A is a device that forwards packets
between networks by processing the routing
information included in the packet.

(A)  bridge
(B) firewall
(C)  router

(D)  all ofthe mentioned

Which transmission media has the highest
transmission speed in anetwork?

(A) coaxial cable

(B)  twisted pair cable

(C)  optical fiber

(D) electrical cable

The 4 byte IP address consists of

(A)  network address

(B)  hostaddress

(C) both(a)and(b)

(D)  none ofthe mentioned

A subset of a network that includes all the
routers but contains no loops is called
(A)  spanningtree

(B)  spider structure

(C)  spidertree

(D)  none of the mentioned

In cryptography, what is cipher?

(A)  algorithm for performing encryption
and decryption

(B)  encrypted massage
(C)  both(a)and(b)
(D)  none of'the mentioned

Which one of the following algorithm is not
used in asymmetric-key cryptography?

(A) RSAalgorithm
(B)  diffie-hellman algorithm
(C) electronic ¢ code book algorithm

(D)  none of the mentioned
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79.

80.

81.

82.

83.

Inthe......ccceecvrennnnee. traversal we process all  79.

of a vertex's descendants before we move to

an adjacent vertex.
(A)  DepthFirst
(B)  BreadthFirst
(C)  WithFirst
(D)  DepthLimited

A graph is a collection of nodes, 80.
called................ And line segments called

arcS Ol....ccccccevveruen that connect pair of
nodes.

(A)  vertices, edges

(B)  edges,vertices

(C) vertices, paths

(D)  graphnode,edges 81.
In the OSI model, which layer performs
encryption or datacompression?

(A)  Application

(B)  Network

(C) DataLink

(D)  Presentation 82.
The loss of signal strength is called:

(A) Attenuation

(B)  Amplitute

(C©) Noise

(D)  Crosstalk 83.
ISDN basic rate interface (BRI) multiplexes

only separate channels.

(A) One

B) Two

(C)  Three

(D) Four
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84.

85.

86.

87.

88.

In a topology the

workstations are connected by a linear

coaxial cable.

(A) Bus

(B)  Star-wired bus

(C)  Star-wiredring

(D) Ring

In a subnet, no unique

dedicated physical path is established to
transmit the data packets across the subnet?

(A)  Circuit-switched

(B)  packet-switched

(C) Large

(D)  Heavily loaded

The length of an IP address is:
(A) 8bits

(B) 16bits

(C)  32bits

(D)  48bits

is a packet-switched

network designed for transmitting data over

fixed lines.

(A) ATM

(B) ADSL

(C) SONET

(D)  FrameRelay

Database transaction end with one of the

following events:

(A) COMMITorROLLBACK isissued

(B) DDL or DCL statement executes
(automatic commit)

(C)  Userexits

(D) alloftheabove
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89.

90.

91.

92.

DELETE [FROM] table [WHERE

condition]; from the above syntax if you

omit the where clause.

(A) allrowsinthetablearedeleted.
(B) Itwillgiveyouan error

(C) Norowswillbedeleted.

(D)  Onlyonerow will be deleted.

When you want to write a simple join query,

the minimum number of join conditions

required is:

(A)  thenumber oftables minus one.

(B) thenumber oftables.

(C)  Thenumber oftables plus one.

(D) Noneoftheabove.

Scalability refers to

(A) asystem can be modified, expanded,
or down-sized easily to meet
changing needs.

(B) data can be shared across the
enterprise, allowing more users
access to more data.

(C)  consistent standards are set for data
names, formats, and documentation

(D)  systems arerelatively independent of

how the physical data is maintained
Inthe 2NF

(A) Attributes may be functionally
dependent on nonkey attributes

(B)  No attribute dependent on a nonkey
attribute

(C)  no attributes dependent on a primary
key

(D) none oftheaboveis correct
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921.
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DELETE [FROM] table [WHERE
condition]; STV FERIfaE | Afc 3T
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93. A consists of linked tables that 93.
form one overall data structure.
(A) - databasesystem
(B) datastructure
(C) fileprocessing system
(D) file-oriented system | 94.
94.  Which of the following is used for archiving
purposes?
(A) transactionfile
(B) workfile
(C)  historyfile
(D)  security file 95.
95.  Which of the following is used as temporary
file created by an information system for a
single task? |
(A) transaction file
(B)  workfile
(C)  historyfile
(D)  securityfile
96.  Which of the following is the functionality of e
'Data Abstraction'?
(A)  Reduce Complexity
(B) Bindstogether code and data
(C)  Parallelism
(D)  None of the mentioned
97.  Howwillaclass protectthe code inside it? o7
(A)  UsingAccess specifiers
(B)  Abstraction
(C)  useoflInheritance
(D)  All ofthe mentioned
Computer Application-21 22

T ifoc Ta i @
TR ST AT & |

(31) SIeEfaEn

(F) SATHEA

(W)  HToe THER T Yue

(]) el S WTett

frfafen & | SiF o ugw e & fag
EERIUNEISINIE Y,

(31) ARAREA

() SHBEA

(|) Eioe™ wEd

(7)) EwREA

fad daH o IE e e & fqugE
YUIEH SIRT ST T8 STl gt s &4 4§
EAPINEE DS IR IE Y

(31)  TRAEEA

() HHEEA

(W) sl wRa

(7)) CHREA

‘S TR S wEeHa A A A R
7?7

(31) Sifeea Rl

() IS ARSATH A A
(9) i

(7)) oora iR o e

T T 3 RIS I TG HA HET ?
(37) TR At s STEr R
(s1) afad=a

(@) fomasmsaEm

(®) wftwswEs

P.T.O.



98.

99.

100.

Which of the following supports the concept

of hierarchical classification?

(A)  Polymorphism
(B)  Encapsulation
(C)  Abstraction
(D)  Inheritance

Which of the following concept is often
expressed by the phrase,'One interface,
multiple methods'?

(A)  Abstraction

(B)  Polymorphism

(C)  Inheritance

(D)  Encapsulation

Binary search algorithm can notbe applied to
(A)  sortedlinked list

(B)  sortedbinary trees

(C)  sortedlinear array

(D) pointerarray
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